



Inverse Problems For Discontinuous Coefficients Sturm-Liouville Operators Depending On The Spectral Parameter Boundary Conditions

RAUF KH. AMIROV, SEVIM DURAK

Department of Mathematics Faculty of Sci. Cumhuriyet University 58140, Sivas , TURKEY

E-mail address : emirov@cumhuriyet.edu.tr

Department of Mathematics Faculty of Sci. Cumhuriyet University 58140, Sivas, TURKEY

E-mail address : sdurak@cumhuriyet.edu.tr

Abstract. In this study, depending on the spectral parameter boundary conditions discontinuous coefficients Sturm-Liouville is investigated . Also Weyl function for this problem under consideration has been de.ned and uniqueness theorems for solution of inverse problem according to this function have been proved .

2000 Mathematics Subject Classification: 34A55, 34B24, 34L05.

Key words and phrases: Integral representation ; Inverse problem ; Sturm-Liouville ,Singular potential.

1. Introduction.

In this study, we concern the problem L:

$$(1.1) \quad \ell(y) := -y'' + \left(\frac{A}{x^\alpha} + q_o(x) \right) y = \lambda^2 \rho(x) y, \quad 0 < x \leq \pi$$
$$(\Gamma_\alpha y)(0) - h y(0) = 0$$
$$\lambda (y'(\pi) + H_1 y(\pi)) = y'(\pi) + H_2 y(\pi)$$

where

$$(1.2) \quad \rho(x) = \begin{cases} 1, & 0 < x \leq a \\ \beta^2, & a < x \leq \pi \end{cases}$$

$A \in R^+, 1 \leq \alpha < 2, \beta > 0, \beta \neq 1$ are real numbers, $q_o(x)$ is real valued boundary function in $L_2(0, \pi)$, λ is a spectral parameter.

We denote that in spectral theory, the inverse problem is the usual name for any problem in which it is required to ascertain the spectral data that will determine a differential operator uniquely and a method of construction of this operator from the data. This kind of problem was first formulated and investigated by Ambartsumyan in 1929 [1]. Since 1946, various forms of the inverse problem have been considered by numerous authors G. Borg[2], N. Levinson [3], B.M. Levitan [4], etc.and now there exists an extensive literature on the [6]-[10]. Later, the inverse problems having specified singularities were considered by a number of authors [5], [19], [21]. The method of spectral mappings is an impressive device for investigating a profound class of inverse problems not only for Sturm-Liouville operators, but also for other more complicated classes of operators such as differential operators of arbitrary orders, differential operators with singularities and others.We apply the method of spectral mappings to the solution of the inverse problem for the Sturm-Liouville operator on a finite interval. In the method of spectral mappings we begin from Cauchy's integral formula for analytic functions. We apply this theorem in the complex plane of the spectral parameter for specially constructed analytic functions having singularity connected with the given spectral characteristics. This permits

us to reduce the inverse problem to the so-called main equation which is a linear equation in a corresponding Banach space of sequences.

In this paper, first it is mentioned about integral representation for solution which satisfies certain initial conditions of differential equation generated by singular Sturm- Liouville operator , properties of spectral characteristics and uniqueness theorems for solution of inverse problem are discussed. After that we give a derivation of the main equation and prove its unique solvability.

We define

$(\Gamma y)(x) = y' - u(x)y$ where $u(x) = A \frac{x^{1-\alpha}}{1-\alpha}$ and let's write the expression of left hand side of equation (1.1) as follows:

$$(1.3) \quad \ell(y) := -[(\Gamma_\alpha y)(x)]' - u(x)(\Gamma_\alpha y)(x) - u^2(x)y(x) + q_o(x)y(x) = \lambda^2 \rho(x)y(x).$$

2.Representation for the solution

We define

$$(2.1) \quad y_1(x) = y(x) , y_2(x) = y'(x) - u(x)y(x) = (\Gamma_\alpha y)(x)$$

$u(x) = A \frac{x^{1-\alpha}}{1-\alpha}$ and let's write the expression of left hand side of equation (1.1) as follows

$$(2.2) \quad \ell(y) := -[(\Gamma_\alpha y)(x)]' - u(x)(\Gamma_\alpha y)(x) - u^2(x)y(x) + q_o(x)y(x) = \lambda^2 \rho(x)y(x).$$

Then equation (1.1) reduces to the system;

$$(2.3) \quad \begin{cases} y_1' - y_2 = u(x)y_1 \\ y_2' + \lambda^2 \rho(x)y_1 = -u(x)y_2 - u^2(x)y_1 + q_o(x)y_1 \end{cases}$$

or in matrice from

$$(2.4) \quad \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}' = \begin{pmatrix} u & 1 \\ -\lambda^2 \rho(x) - u^2 + q_o & -u \end{pmatrix} \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}$$

The entries of the matrice

$$B = \begin{pmatrix} u(x) & 1 \\ -\lambda^2 \rho(x) - u^2(x) + q_o(x) & -u(x) \end{pmatrix}$$

are functions in $L_1[0, \pi]$.

Using the theorem in [22] Naimark (1967), there exists only one solution of system (2.3) which satisfies the same initial conditions $y_1(\xi) = v_1, y_2(\xi) = v_2$ for each $\xi \in [0, \pi]$, $v = (v_1, v_2)^T \in C^2$ especially the initial conditions $y_1(0) = 1, y_2(0) = i\lambda$.

Definition 1. *First component of solution which satisfies the initial conditions $y_1(\xi) = v_1, y_2(\xi) = (\Gamma_\alpha y)(\xi) = v_2$ of the system (2.3) is called as the solution the equation (1.1) which satisfies the same initial conditions.*

It was obtained in [23] by the successive approximations method that [24] the following theorem is true.First component of solution which satisfies the initial

conditions $y_1(\xi) = v_1, y_2(\xi) = (\Gamma_\alpha y)(\xi) = v_2$ of the system (2.3) is called as the solution the equation (1.1) which satisfies the same initial conditions.

It was obtained in [23] by the successive approximations method that [24] the following theorem is true.

Theorem 1. For every solutions of the problem L which satisfies the initial conditions $\begin{pmatrix} y_1 \\ y_2 \end{pmatrix}(0) = \begin{pmatrix} 1 \\ i\lambda \end{pmatrix}$, the following expression is true;

For $x > a$

$$\left\{ \begin{array}{l} y_1(x, \lambda) = \beta^+ e^{i\lambda\mu^+(x)} + \beta^- e^{i\lambda\mu^-(x)} + \int_{-\mu^+(x)}^{\mu^+(x)} K_{11}(x, t) e^{i\lambda t} dt \\ y_2(x, \lambda) = i\lambda\beta \left(\beta^+ e^{i\lambda\mu^+(x)} - \beta^- e^{i\lambda\mu^-(x)} \right) \\ \quad + b(x) \left[\beta^+ e^{i\lambda\mu^+(x)} + \beta^- e^{i\lambda\mu^-(x)} \right] \\ \quad + \int_{-\mu^+(x)}^{\mu^+(x)} K_{21}(x, t) e^{i\lambda t} dt + i\lambda\beta \int_{-\mu^+(x)}^{\mu^+(x)} K_{22}(x, t) e^{i\lambda t} dt \end{array} \right.$$

We see that

$$\int_{-\mu^+(x)}^{\mu^+(x)} |K_{ij}(x, t)| dt = \sum_{-\mu^+(x)}^{\mu^+(x)} \int_{-\mu^+(x)}^{\mu^+(x)} |K_{ij}^{(n)}(x, t)| dt \leq e^{c \cdot \sigma(x)} - 1$$

$$c = \max \left\{ 2\beta^+, \frac{|\beta|\beta^+}{2}, \frac{\beta^+}{2} \right\}$$

and

$$\sigma(x) = \int_0^{\mu^+(x)} (\mu^+(x) - t) \left[|u(t)|^2 + |u(t)||b(t)| + |q_0(t)| \right] dt$$

($i, j = 1, 2$) Where, $b(x) = -\frac{1}{2} \int_0^x [u^2(s) - q_0(s)] e^{-\frac{1}{2} \int_s^x u(t) dt} ds$ and we get

$$K_{11}(x, \mu^+(x)) = \frac{\beta^+}{2\beta} u(x) + \frac{1}{2} \beta b(a) e^{-\int_a^x u(t) dt} + \frac{\beta^+}{2\beta} b(a) - \frac{\beta^-}{2\beta} u(a) + \frac{\beta^-}{2} b(a),$$

$$K_{21}(x, \mu^+(x)) = \frac{\beta^+}{2\beta} (b'(x) - b'(a))$$

$$-\frac{1}{2} \int_a^x [u^2(s) - q_0(s)] K_{11}(s, \mu^+(s)) ds - \frac{1}{2} \int_a^x u(s) K_{21}(s, \mu^+(s)) ds,$$

$$K_{22}(x, \mu^+(x)) = \frac{\beta^+}{2\beta} (2b(x) - u(x)) + \frac{\beta}{2} b(a) e^{-\int_a^x u(t) dt} - \frac{\beta^+}{2\beta} b(a) + \frac{\beta^-}{2\beta} u(a) + \frac{\beta^-}{2} b(a),$$

$$K_{22}(x, -\mu^-(x) + 0) - K_{22}(x, -\mu^-(x) - 0) = \frac{A}{1-\alpha} e^{\int_a^x u(t) dt}$$

$$K_{22}(x, \mu^-(x) + 0) - K_{22}(x, \mu^-(x) - 0) = \frac{\beta^- A}{2\beta^2(1-\alpha)} \int_a^x [u(t)b(t) + u^2(t) - q_0(t)] e^{\frac{1}{\beta} \int_t^x u(\xi) d\xi} dt$$

and $\frac{\partial K_{ij}(x, \cdot)}{\partial x}, \frac{\partial K_{ij}(x, \cdot)}{\partial t} \in L_2(0, \pi), i, j = 1, 2, \beta^\pm = \frac{1}{2} \left(1 \pm \frac{1}{\beta}\right), \mu^+(x) = \beta x - \beta a + a, \mu^-(x) = -\beta x + \beta a + a$

Note For $0 < x \leq a$, there are in [16]

3. Properties of the spectrum

In this section, properties of the spectrum of problem L have been given.

Let us denote problem L as L_0 in the case of $A = 0$ and $q_0(x) \equiv 0$

When $A = 0$ and $q_0(x) \equiv 0$, it is easily shown that solution $\varphi_0(x, \lambda)$ satisfying the initial conditions $\varphi_0(0, \lambda) = \begin{pmatrix} 0 \\ \lambda \end{pmatrix}$ is shown as $\varphi_0(x, \lambda) = \frac{y_0(x, \lambda) - \bar{y}_0(x, \lambda)}{2i}$ for $x < a$

$$\begin{cases} \varphi_{01}(x, \lambda) = \sin \lambda x \\ \varphi_{02}(x, \lambda) = \lambda \cos \lambda x \end{cases}$$

for $x > a$,

$$\begin{cases} \varphi_{01}(x, \lambda) = \beta^+ \sin \lambda \mu^+(x) + \beta^- \sin \lambda \mu^-(x) \\ \varphi_{02}(x, \lambda) = \lambda \beta (\beta^+ \cos \lambda \mu^+(x) - \beta^- \cos \lambda \mu^-(x)) \end{cases}$$

Let $\Delta_0(\lambda)$ be a characteristic function of problem L_0 . Then characteristic equation of problem L_0 is the form.

$$\Delta_0(\lambda) = \beta^+ \sin \lambda \mu^+(\pi) + \beta^- \sin \lambda \mu^-(\pi)$$

Roots λ_n^0 of this equation are eigenvalues of problem L_0 .

Lemma1: Let $y, z \in D(L_0^*)$. Then

$$(L_0^* y, z) = \int_0^\pi \rho(x) \ell(y) \bar{z} dx = (y, L_0^* z) + [y, \bar{z}] \left(|_0^{\alpha-0} + |_{\alpha+0}^\pi \right)$$

where

$$[y, \bar{z}] \left(|_0^{\alpha-0} + |_{\alpha+0}^\pi \right) = \left[(\Gamma_\alpha \bar{z})(x) y(x) - (\Gamma_\alpha y)(x) \overline{z(x)} \right] \left(|_0^{\alpha-0} + |_{\alpha+0}^\pi \right).$$

Lemma2:

$\inf_{n \neq m} |\lambda_n^0 - \lambda_m^0| = c > 0$, i.e., roots of characteristic equation $\Delta_0(\lambda) = 0$ are separated.

Proof:

Let us assume that sequence $\{\lambda_n^0\}$ has two subsequences $\{\lambda_{n_p}^0\}$ and $\{\tilde{\lambda}_{n_p}^0\}$ such that

$$\lambda_{n_p}^0 \neq \tilde{\lambda}_{n_p}^0, \lambda_{n_p}^0 \rightarrow \infty, \tilde{\lambda}_{n_p}^0 \rightarrow \infty \quad (p \rightarrow \infty)$$

and

$$\lim_{p \rightarrow \infty} |\lambda_{n_p}^0 - \tilde{\lambda}_{n_p}^0| = 0$$

If we use orthogonality of eigenfunctions $\varphi_0(x, \lambda_{n_p}^0)$ and $\varphi_0(x, \tilde{\lambda}_{n_p}^0)$ of problem L_0 in space $L_2(0, \pi)$,

$$\begin{aligned} 0 &= \int_0^\pi \rho(x) \varphi_0(x, \lambda_{n_p}^0) \varphi_0(x, \tilde{\lambda}_{n_p}^0) dx \\ &= \int_0^\pi \rho(x) \varphi_0(x, \lambda_{n_p}^0) [\varphi_0(x, \tilde{\lambda}_{n_p}^0) - \varphi_0(x, \lambda_{n_p}^0)] dx + \int_0^\pi \rho(x) (\varphi_0(x, \lambda_{n_p}^0))^2 dx \\ &\geq \int_0^\pi \rho(x) \varphi_0(x, \lambda_{n_p}^0) [\varphi_0(x, \tilde{\lambda}_{n_p}^0) - \varphi_0(x, \lambda_{n_p}^0)] dx + \int_0^a \rho(x) (\varphi_0(x, \lambda_{n_p}^0))^2 dx \\ &= \int_0^\pi \rho(x) \varphi_0(x, \lambda_{n_p}^0) [\varphi_0(x, \tilde{\lambda}_{n_p}^0) - \varphi_0(x, \lambda_{n_p}^0)] dx + \int_0^a \sin^2 \lambda_{n_p}^0 x dx \\ &= \int_0^\pi \rho(x) \varphi_0(x, \lambda_{n_p}^0) [\varphi_0(x, \tilde{\lambda}_{n_p}^0) - \varphi_0(x, \lambda_{n_p}^0)] dx + \frac{a}{2} - \frac{\sin 2\lambda_{n_p}^0 a}{2\lambda_{n_p}^0} \end{aligned}$$

From representing of function $\varphi_0(x, \lambda)$, we get that

$$\lim_{p \rightarrow \infty} |\varphi_0(x, \tilde{\lambda}_{n_p}^0) - \varphi_0(x, \lambda_{n_p}^0)| = 0$$

i.e., as $p \rightarrow \infty$, $|\varphi_0(x, \tilde{\lambda}_{n_p}^0) - \varphi_0(x, \lambda_{n_p}^0)| = 0$ uniformly converges to zero with respect to x in the interval $[0, \pi]$. For this reason, if we pass through the limit as $p \rightarrow \infty$ then inequality $0 \geq \frac{a}{2}$ is obtained.

This contradiction gives to proof of Lemma2.

Denote $\Delta(\lambda) = \langle \psi(x, \lambda), \varphi(x, \lambda) \rangle$, where $\langle y(x), z(x) \rangle := y(x) (\Gamma_\alpha z)(x) - (\Gamma_\alpha y)(x) z(x)$. According to Liouville formula, $\langle \psi(x, \lambda), \varphi(x, \lambda) \rangle$ is not depend on x .

Let $\varphi(x, \lambda)$ and $\psi(x, \lambda)$ be of the equations of (1.1) to have the solution with initial conditions,

$$\varphi(0, \lambda) = 1, (\Gamma_\alpha \varphi)(0, \lambda) = h, \psi(\pi, \lambda) = \lambda - 1, \psi(\pi, \lambda) = H_2 - H_1 \lambda.$$

Clearly, for each x , functions $\langle \psi(x, \lambda), \varphi(x, \lambda) \rangle$ are entire in λ and $\Delta(\lambda) = V(\varphi) = -U(\psi)$

Lemma3: Eigenvalues of the problem L are simple that is $\dot{\Delta}(\lambda_n) \neq 0$

Proof: Since $\varphi(x, \lambda_n)$ and $\psi(x, \lambda)$ are solutions of equation (1.1), it is obtained that

$$\begin{aligned} -\psi''(x, \lambda) + [u'(x) + q_0(x)] \psi(x, \lambda) &= \lambda^2 \rho(x) \psi(x, \lambda) \\ -\varphi''(x, \lambda_n) + [u'(x) + q_0(x)] \varphi(x, \lambda_n) &= \lambda_n^2 \rho(x) \varphi(x, \lambda_n) \end{aligned}$$

If first equation is multiplied by $\varphi(x, \lambda_n)$, second equation is multiplied by $\psi(x, \lambda)$ and subtracting them side by side and finally integrating over the interval $[0, \pi]$, then the following equality is obtained:

$$\frac{d}{dx} \langle \psi(x, \lambda), \varphi(x, \lambda_n) \rangle = (\lambda^2 - \lambda_n^2) \rho(x) \psi(x, \lambda) \varphi(x, \lambda_n)$$

$$(\lambda^2 - \lambda_n^2) \int_0^\pi \rho(x) \psi(x, \lambda) \varphi(x, \lambda_n) dx = \langle \psi(x, \lambda), \varphi(x, \lambda_n) \rangle [{}_0^{a-0} + {}_a^{\pi+0}]$$

$\alpha_n = \int_0^\pi \rho(x) \varphi^2(x, \lambda_n) dx$ is considered, it is obtained that

$$\int_0^\pi \rho(x) \psi(x, \lambda) \varphi(x, \lambda_n) dx = -\dot{\Delta}(\lambda_n) \text{ as } \lambda \rightarrow \lambda_n.$$

For all $x \in [0, \pi]$, we get from existing of constants γ_n which satisfy the equality $\psi(x, \lambda_n) = \gamma_n \varphi(x, \lambda_n)$ that

$$\alpha_n \gamma_n = -\dot{\Delta}(\lambda_n).$$

It is obvious that $\dot{\Delta}(\lambda_n) \neq 0$. So lemma is proved.

Lemma4: The eigenvalues λ_n of problem L have the following asymptotic behaviour :

$$(3.1) \quad \lambda_n = \lambda_n^0 + \frac{d_n}{\lambda_n^0} + \frac{\delta_n}{\lambda_n^0}.$$

where $\delta_n \in \ell_2$ and d_n is a bounded sequence.

Proof: Denote

$$\Gamma_n = \{ \lambda : |\lambda| = |\lambda_n^0| + \delta, \delta > 0, n = 0, 1, 2, \dots \}$$

$$G_\delta = \{ \lambda : |\lambda - \lambda_n^0| \geq \delta, \delta > 0, n = 0, 1, 2, \dots \}$$

where δ is sufficiently small positive number. $z = x + iy$ including benefiting from

$$|\sin z| = \sqrt{\sin^2 x + \sinh^2 y} \text{ equality, for } \lambda \in G_\delta \text{ there } |\Delta_0(\lambda)| = |\beta^+ \sin \lambda \mu^+(\pi) + \beta^- \sin \lambda \mu^-(\pi)|$$

$$\geq \frac{\beta^+}{2} C_\delta e^{|\operatorname{Im} \lambda| \mu^+(\pi)}$$

so that it is $C_\delta > 0$.

On the other hand, including

$$\varphi_1(x, \lambda) = \beta^+ \cos \lambda \mu^+(x) + \beta^- \cos \lambda \mu^-(x) + \int_{-\mu^+(x)}^{\mu^+(x)} K_{11}(x, t) \cos \lambda t dt$$

and

$$\varphi_2(x, \lambda) = -\lambda \beta (\beta^+ \sin \lambda \mu^+(x) - \beta^- \sin \lambda \mu^-(x)) + b(x) (\beta^+ \cos \lambda \mu^+(x) + \beta^- \cos \lambda \mu^-(x))$$

$$+ \int_{-\mu^+(x)}^{\mu^+(x)} K_{21}(x, t) \cos \lambda t dt - \lambda \beta \int_{-\mu^+(x)}^{\mu^+(x)} K_{22}(x, t) \sin \lambda t dt,$$

characteristic function of the problem L is obtained as

$$\Delta(\lambda) = (\lambda - 1) \varphi_2(\pi, \lambda) + (\lambda H_1 - H_2) \varphi_1(\pi, \lambda)$$

$$= \Delta_0(\lambda) + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} K_{22}(\pi, t) \sin \lambda t dt$$

$$- \frac{1}{\lambda \beta} (\beta \beta^+ \sin \lambda \mu^+(\pi) - \beta \beta^- \sin \lambda \mu^-(\pi) + (b(\pi) + H_1) (\beta^+ \cos \lambda \mu^+(\pi) + \beta^- \cos \lambda \mu^-(\pi)))$$

$$\begin{aligned}
 & + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_1 K_{11}(\pi, t)] \cos \lambda t dt \} \\
 & + \frac{1}{\lambda^2 \beta} \{ (b(\pi) + H_2) (\beta^+ \cos \lambda \mu^+(\pi) + \beta^- \cos \lambda \mu^-(\pi)) \\
 & + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_2 K_{11}(\pi, t)] \cos \lambda t dt \} = 0.
 \end{aligned}$$

Also, $K_{22}(x, \cdot) \in L_1(-\mu^+(x), \mu^+(x))$,

$$\lim_{|\lambda| \rightarrow +\infty} \int_{-\mu^+(\pi)}^{\mu^+(\pi)} K_{22}(\pi, t) \sin \lambda t dt = 0$$

can be written, we get $|\Delta(\lambda) - \Delta_0(\lambda)| < \frac{C_\delta}{2} e^{|\text{Im } \lambda| \mu^+(\pi)}$

Thus,

$$|\Delta_0(\lambda)| > C_\delta e^{|\text{Im } \lambda| \mu^+(\pi)} > \frac{C_\delta}{2} e^{|\text{Im } \lambda| \mu^+(\pi)} > |\Delta(\lambda) - \Delta_0(\lambda)|$$

such that n is sufficiently large natural number.

It follows from that for sufficiently large values of n , functions $\Delta_0(\lambda)$ and $[\Delta(\lambda) - \Delta_0(\lambda)] + \Delta_0(\lambda) = \Delta(\lambda)$ have the same number of zeros counting multiplicities inside contour Γ_n according to Rouché's theorem. That is, they have the theorem $(n+1)$ number of zeros: $\lambda_0, \lambda_1, \dots, \lambda_n$. Analogously, it is shown by Rouché's theorem that for sufficiently large values of n , function $\Delta(\lambda)$ has a unique zero inside each circle $|\lambda - \lambda_n^0| < \delta$.

Since δ is sufficiently small number, representing of $\lambda_n = \lambda_n^0 + \varepsilon_n$ is acquired where $\lim_{n \rightarrow \infty} \varepsilon_n = 0$.

Since numbers λ_n are zeros of characteristic function $\Delta(\lambda)$,

$$\begin{aligned}
 \Delta(\lambda_n) & = \Delta(\lambda_n^0 + \varepsilon_n) = \Delta_0(\lambda_n^0 + \varepsilon_n) + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} K_{22}(\pi, t) \sin(\lambda_n^0 + \varepsilon_n) t dt \\
 & - \frac{1}{(\lambda_n^0 + \varepsilon_n) \beta} \{ \beta \beta^+ \sin(\lambda_n^0 + \varepsilon_n) \mu^+(\pi) - \beta \beta^- \sin(\lambda_n^0 + \varepsilon_n) \mu^-(\pi) \\
 & + (b(\pi) + H_1) (\beta^+ \cos(\lambda_n^0 + \varepsilon_n) \mu^+(\pi) + \beta^- \cos(\lambda_n^0 + \varepsilon_n) \mu^-(\pi)) \\
 & + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_1 K_{11}(\pi, t)] \cos(\lambda_n^0 + \varepsilon_n) t dt \} \\
 & + \frac{1}{(\lambda_n^0 + \varepsilon_n)^2 \beta} \{ (b(\pi) + H_2) (\beta^+ \cos(\lambda_n^0 + \varepsilon_n) \mu^+(\pi) + \beta^- \cos(\lambda_n^0 + \varepsilon_n) \mu^-(\pi)) \\
 & + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_2 K_{11}(\pi, t)] \cos(\lambda_n^0 + \varepsilon_n) t dt \} \\
 & = 0.
 \end{aligned}$$

On the other hand,

$$\Delta_0(\lambda_n^0 + \varepsilon_n) = (\Delta_0(\lambda_n^0) + o(1)) \varepsilon_n.$$

In that case the equality

$$\begin{aligned} & \left(\Delta_0(\lambda_n^0) + o(1) \right) \varepsilon_n + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} K_{22}(\pi, t) \sin(\lambda_n^0 + \varepsilon_n) t dt \\ & - \frac{1}{(\lambda_n^0 + \varepsilon_n) \beta} \{ \beta \beta^+ \sin(\lambda_n^0 + \varepsilon_n) \mu^+(\pi) - \beta \beta^- \sin(\lambda_n^0 + \varepsilon_n) \mu^-(\pi) \\ & + (b(\pi) + H_1) (\beta^+ \cos(\lambda_n^0 + \varepsilon_n) \mu^+(\pi) + \beta^- \cos(\lambda_n^0 + \varepsilon_n) \mu^-(\pi)) \\ & + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_1 K_{11}(\pi, t)] \cos(\lambda_n^0 + \varepsilon_n) t dt \} \\ & + \frac{1}{(\lambda_n^0 + \varepsilon_n)^2 \beta} \{ (b(\pi) + H_2) (\beta^+ \cos(\lambda_n^0 + \varepsilon_n) \mu^+(\pi) + \beta^- \cos(\lambda_n^0 + \varepsilon_n) \mu^-(\pi)) \\ & + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_2 K_{11}(\pi, t)] \cos(\lambda_n^0 + \varepsilon_n) t dt \} = 0 \end{aligned}$$

is obtained .

Since function $\Delta_0(\lambda_n)$ is type of [25] , the number $\gamma_\delta > 0$ exists such that for all n , $|\Delta_0(\lambda_n^0)| \geq \gamma_\delta$.

If the study [26] (see also [27]) is used , then we get that

$$\lambda_n^0 = \frac{\pi n}{\mu^+(\pi)} + \Psi_1(n)$$

If we use the expression of ε_n , then

$$\begin{aligned} \varepsilon_n \approx & - \frac{\int_{-\mu^+(\pi)}^{\mu^+(\pi)} K_{22}(\pi, t) \sin \lambda_n^0 t dt}{\Delta_0(\lambda_n^0) + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} t K_{22}(\pi, t) \cos \lambda_n^0 t dt} \\ & + \frac{1}{\lambda_n^0 \Delta_0(\lambda_n^0)} \{ \beta^+ \sin \lambda_n^0 \mu^+(\pi) - \beta^- \sin \lambda_n^0 \mu^-(\pi) \\ & + \frac{b(\pi) + H_1}{\beta} (\beta^+ \cos \lambda_n^0 \mu^+(\pi) + \beta^- \cos \lambda_n^0 \mu^-(\pi)) \\ & + \frac{1}{\beta} \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_1 K_{11}(\pi, t)] \cos \lambda_n^0 t dt \}. \end{aligned}$$

Since

$$\left\{ \int_{-\mu^+(\pi)}^{\mu^+(\pi)} K_{22}(\pi, t) \sin \lambda_n^0 t dt \right\}_{n \geq 1} \in \ell_2.$$

They are obtained that

$$\delta_n = -\frac{\int_{-\mu^+(\pi)}^{\mu^+(\pi)} K_{22}(\pi, t) \sin \lambda_n^0 t dt}{\Delta_0(\lambda_n^0) + \int_{-\mu^+(\pi)}^{\mu^+(\pi)} t K_{22}(\pi, t) \cos \lambda_n^0 t dt}, \quad (\delta_n) \in \ell_2,$$

$$d_n = \frac{1}{\Delta_0(\lambda_n^0)} \left\{ \beta^+ \sin \lambda_n^0 \mu^+(\pi) - \beta^- \sin \lambda_n^0 \mu^-(\pi) + \frac{b(\pi) + H_1}{\beta} (\beta^+ \cos \lambda_n^0 \mu^+(\pi) + \beta^- \cos \lambda_n^0 \mu^-(\pi)) \right.$$

$$\left. + \frac{1}{\beta} \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}(\pi, t) + H_1 K_{11}(\pi, t)] \cos \lambda_n^0 t dt \right\}$$

(d_n) is a bounded sequence .

Thus, for the eigenvalues λ_n of the problem L , asymptotic formula (3.1) is true .
Therefore Lemma4 is proved .

4. Weyl Solution and Properties of The Weyl Function

Let $\Phi(x, \lambda) = \begin{pmatrix} \Phi_1(x, \lambda) \\ \Phi_2(x, \lambda) \end{pmatrix}$ be solution of (1.1) under the conditions $\Phi_1(0, \lambda) = 1$ and $\Phi_1(\pi, \lambda) = 0$. The function $\Phi(x, \lambda)$ is called the Weyl solution . We shall assume that $S(x, \lambda)$, $\varphi(x, \lambda)$ and $\Psi(x, \lambda)$ are solutions of equation (1.1) that satisfy the initial conditions

$$\Psi(\pi, \lambda) = \begin{pmatrix} 1 \\ 0 \end{pmatrix}, \quad \varphi(0, \lambda) = \begin{pmatrix} 1 \\ 0 \end{pmatrix} \quad \text{and} \quad S(0, \lambda) = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

It is clear that the functions $\Psi(x, \lambda)$ and $S(x, \lambda)$ are entire in λ . Then the function $\Psi(x, \lambda)$ can be represented as follows :

$$\Psi(x, \lambda) = \Psi_1(0, \lambda) \varphi(x, \lambda) - \Delta(\lambda) S(x, \lambda)$$

or

$$-\frac{\Psi(x, \lambda)}{\Delta(\lambda)} = -\frac{\Psi_1(0, \lambda)}{\Delta(\lambda)} \varphi(x, \lambda) + S(x, \lambda)$$

Denote

$$M(\lambda) = -\frac{\Psi_1(0, \lambda)}{\Delta(\lambda)}$$

It is clear that

$$(4.1) \quad \Phi(x, \lambda) = -\frac{\Psi(x, \lambda)}{\Delta(\lambda)} = M(\lambda) \varphi(x, \lambda) + S(x, \lambda)$$

The function $\Phi(x, \lambda)$ is called the Weyl solution and the function $M(\lambda)$ is called the Weyl function for the boundary value problem L . The Weyl solution and Weyl function are meromorphic functions with respect to $\{\lambda_n\}_{n \geq 0}$ having poles in the spectrum of the problem L .

Theorem1: The following representation holds ;

$$M(\lambda) = \frac{1}{\alpha_0(\lambda - \lambda_0)} + \sum_{n=1}^{\infty} \left\{ \frac{1}{\alpha_n(\lambda - \lambda_n)} + \frac{1}{\alpha_n^0 \lambda_n^0} \right\} .$$

Proof:

Let's write a representation solution of $\Psi(x, \lambda)$ as representation solution of

$\varphi(x, \lambda)$:

$$\left\{ \begin{array}{l} \text{for } x > a \\ \Psi_1(x, \lambda) = \cos \lambda(\pi - x) + \int_0^{\pi+x} \tilde{N}_{11}(x, t) \cos \lambda t dt \\ \Psi_2(x, \lambda) = -\lambda \sin \lambda(\pi - x) + b(x) \cos \lambda(\pi - x) + \int_0^{\pi+x} \tilde{N}_{21}(x, t) \cos \lambda t dt \\ -\lambda \int_0^{\pi+x} \tilde{N}_{22}(x, t) \sin \lambda t dt \end{array} \right.$$

$$\left\{ \begin{array}{l} \text{for } x < a \\ \Psi_1(x, \lambda) = \beta^+ \cos \lambda(\mu^+(\pi) - \mu^+(x)) + \beta^- \cos \lambda(\mu^-(\pi) - \mu^-(x)) \\ + \int_0^{\mu^+(\pi)+\mu^+(x)} \tilde{N}_{11}(x, t) \cos \lambda t dt \\ \Psi_2(x, \lambda) = -\lambda \beta(\beta^+ \sin \lambda(\mu^+(\pi) - \mu^+(x)) - \beta^- \sin \lambda(\mu^-(\pi) - \mu^-(x))) \\ + b(x) (\beta^+ \cos \lambda(\mu^+(\pi) - \mu^+(x)) + \beta^- \cos \lambda(\mu^-(\pi) - \mu^-(x))) + \int_0^{\mu^+(\pi)+\mu^+(x)} \tilde{N}_{21}(x, t) \cos \lambda t dt \\ -\lambda \beta \int_0^{\mu^+(\pi)+\mu^+(x)} \tilde{N}_{22}(x, t) \sin \lambda t dt \end{array} \right.$$

where $\tilde{N}_{ij}(x, t) = N_{ij}(x, t) - N_{ij}(x, -t)$, $i, j = 1, 2$. In the case of $A = 0$ ve $q_0(x) = 0$ we write solution with $\Psi_{01}(x, \lambda)$ and $\Psi_{02}(x, \lambda)$, so we have

$$\left\{ \begin{array}{l} \Psi_1(x, \lambda) = \Psi_{01}(x, \lambda) + f_1 \\ \Psi_2(x, \lambda) = \Psi_{02}(x, \lambda) + f_2 \end{array} \right.$$

where

$$f_1 = \int_0^{\mu^+(\pi)+\mu^+(x)} \tilde{N}_{11}(x, t) \cos \lambda t dt \text{ ve}$$

$$f_2 = b(x) (\beta^+ \cos \lambda(\mu^+(\pi) - \mu^+(x)) + \beta^- \cos \lambda(\mu^-(\pi) - \mu^-(x)))$$

$$+ \int_0^{\mu^+(\pi)+\mu^+(x)} \tilde{N}_{21}(x, t) \cos \lambda t dt - \lambda \beta \int_0^{\mu^+(\pi)+\mu^+(x)} \tilde{N}_{22}(x, t) \sin \lambda t dt.$$

On the other hand, we can write

$$M(\lambda) - M_0(\lambda) = \frac{\Psi_1(0, \lambda)}{\Psi_2(0, \lambda)} - \frac{\Psi_{01}(0, \lambda)}{\Psi_{02}(0, \lambda)} = -\frac{f_1}{\Delta(\lambda)} + \frac{f_2}{\Delta(\lambda)} M_0(\lambda).$$

Since $\lim_{|\lambda| \rightarrow \infty} e^{-|\text{Im } \lambda \mu^+(\pi)} |f_i(\lambda)| = 0$ and $|\Delta(\lambda)| > C_\delta e^{|\text{Im } \lambda \mu^+(\pi)}$ for $\lambda \in G_\delta$, we get that ,

$$(4.2) \quad \limsup_{|\lambda| \rightarrow \infty} \sup_{\lambda \in G_\delta} |M(\lambda) - M_0(\lambda)| = 0$$

Weyl function $M(\lambda)$ is meromorphic with respect to poles λ_n . We calculate that

$$\text{Res}_{\lambda=\lambda_n} M(\lambda) = \frac{\Psi_1(0, \lambda_n)}{\dot{\Delta}(\lambda_n)} = \frac{1}{\dot{\Delta}(\lambda_n) \varphi_1(\pi, \lambda_n)} = -\frac{1}{\alpha_n} \quad (4.3)$$

$$\text{Res}_{\lambda=\lambda_n^0} M_0(\lambda) = \frac{\Psi_{01}(0, \lambda_n^0)}{\dot{\Delta}(\lambda_n^0)} = \frac{1}{\dot{\Delta}_0(\lambda_n^0) \varphi_{01}(\pi, \lambda_n^0)} = -\frac{1}{\alpha_n^0} \quad (4.3)$$

Consider the contour integral

$$I_n(x) = \frac{1}{2\pi i} \int_{\Gamma_n} \frac{M(\mu) - M_0(\mu)}{\lambda - \mu} d\mu, \quad \lambda \in \text{int}\Gamma_n$$

By virtue of (4.2), we have $\lim_{n \rightarrow \infty} I_n(x) = 0$. On the other hand, the residue theorem and (4.3) yield

$$I_n(x) = -M(\lambda) + M_0(\lambda) + \sum_{\lambda_n \in \text{int}\Gamma_n} \frac{1}{\alpha_n(\lambda - \lambda_n)} - \sum_{\lambda_n^0 \in \text{int}\Gamma_n} \frac{1}{\alpha_n^0(\lambda_n^0 - \lambda)}$$

and theorem is proved.

Form a \tilde{L} problem by taking $\tilde{q}_0(x)$, \tilde{A} , $\tilde{\lambda}$ in L problem:

Theorem 2: If $M(\lambda) = \tilde{M}(\lambda)$ then $L = \tilde{L}$. Thus the specification of the Weyl function uniquely determines the operator.

Proof:

Let us define the matrix $P(x, \lambda) = [P_{jk}(x, \lambda)]_{j,k=1,2}$ by the formula.

$$P(x, \lambda) \begin{pmatrix} \tilde{\varphi}_1(x, \lambda) & \tilde{\Phi}_1(x, \lambda) \\ \tilde{\varphi}_2(x, \lambda) & \tilde{\Phi}_2(x, \lambda) \end{pmatrix} = \begin{pmatrix} \varphi_1(x, \lambda) & \Phi_1(x, \lambda) \\ \varphi_2(x, \lambda) & \Phi_2(x, \lambda) \end{pmatrix} \dots\dots\dots(4.4)$$

Using (4.1) and (4.4) we calculate

$$(4.5) \quad \begin{cases} P_{11}(x, \lambda) = \varphi_1(x, \lambda) \tilde{\Phi}_2(x, \lambda) - \Phi_1(x, \lambda) \tilde{\varphi}_2(x, \lambda) \\ P_{12}(x, \lambda) = \Phi_1(x, \lambda) \tilde{\varphi}_1(x, \lambda) - \varphi_1(x, \lambda) \tilde{\Phi}_1(x, \lambda) \\ P_{21}(x, \lambda) = \varphi_2(x, \lambda) \tilde{\Phi}_2(x, \lambda) - \Phi_2(x, \lambda) \tilde{\varphi}_2(x, \lambda) \\ P_{22}(x, \lambda) = \Phi_2(x, \lambda) \tilde{\varphi}_1(x, \lambda) - \varphi_2(x, \lambda) \tilde{\Phi}_1(x, \lambda) \end{cases}$$

It follows from (4.5), (4.1), and $\Delta(\lambda) = \langle \Psi(x, \lambda), \varphi(x, \lambda) \rangle$.

$$P_{11}(x, \lambda) = 1 + \frac{1}{\Delta(\lambda)} \left[\Psi_1(x, \lambda) (\tilde{\varphi}_2(x, \lambda) - \varphi_2(x, \lambda)) - \varphi_1(x, \lambda) (\tilde{\Psi}_2(x, \lambda) - \Psi_2(x, \lambda)) \right]$$

$$P_{12}(x, \lambda) = \frac{1}{\Delta(\lambda)} \left[\varphi_1(x, \lambda) \tilde{\Psi}_1(x, \lambda) - \Psi_1(x, \lambda) \tilde{\varphi}_1(x, \lambda) \right]$$

$$P_{21}(x, \lambda) = \frac{1}{\Delta(\lambda)} \left[\Psi_2(x, \lambda) \tilde{\varphi}_2(x, \lambda) - \varphi_1(x, \lambda) \tilde{\Psi}_2(x, \lambda) \right]$$

$$P_{22}(x, \lambda) = 1 + \frac{1}{\Delta(\lambda)} \left[\varphi_2(x, \lambda) \left(\tilde{\Psi}_1(x, \lambda) - \tilde{\Psi}_2(x, \lambda) \right) - \Psi_2(x, \lambda) \left(\tilde{\varphi}_1(x, \lambda) - \tilde{\varphi}_2(x, \lambda) \right) \right]$$

For $\lambda \in G_\delta$, $|\Delta(\lambda)| > C_\delta e^{|\operatorname{Im} \lambda| \mu^+(\pi)}$ from the Lebesgue lemma ,

$$(4.6) \quad \begin{cases} \lim_{\lambda \rightarrow \infty} \max_{\lambda \in G_\delta} \max_{0 \leq x \leq \pi} |P_{11}(x, \lambda) - 1| = \lim_{\lambda \rightarrow \infty} \max_{\lambda \in G_\delta} \max_{0 \leq x \leq \pi} |P_{22}(x, \lambda) - 1| \\ = \lim_{\lambda \rightarrow \infty} \max_{\lambda \in G_\delta} \max_{0 \leq x \leq \pi} |P_{12}(x, \lambda)| = \lim_{\lambda \rightarrow \infty} \max_{\lambda \in G_\delta} \max_{0 \leq x \leq \pi} |P_{21}(x, \lambda)| = 0 \end{cases}$$

According to (4.1) , (4.5) and (4.6) we have

$$P_{11}(x, \lambda) = \varphi_1(x, \lambda) \tilde{S}_2(x, \lambda) - S_1(x, \lambda) \tilde{\varphi}_2(x, \lambda) + \left(\tilde{M}(\lambda) - M(\lambda) \right) \varphi_1(x, \lambda) \tilde{\varphi}_2(x, \lambda)$$

$$P_{12}(x, \lambda) = \tilde{\varphi}_1(x, \lambda) \tilde{S}_1(x, \lambda) - \tilde{S}_1(x, \lambda) \varphi_1(x, \lambda) + \left(M(\lambda) - \tilde{M}(\lambda) \right) \varphi_1(x, \lambda) \tilde{\varphi}_1(x, \lambda)$$

$$P_{21}(x, \lambda) = \varphi_2(x, \lambda) \tilde{S}_2(x, \lambda) - S_2(x, \lambda) \tilde{\varphi}_2(x, \lambda) + \left(\tilde{M}(\lambda) - M(\lambda) \right) \varphi_2(x, \lambda) \tilde{\varphi}_2(x, \lambda)$$

$$P_{22}(x, \lambda) = \tilde{\varphi}_1(x, \lambda) S_2(x, \lambda) - \tilde{S}_1(x, \lambda) \varphi_2(x, \lambda) + \left(M(\lambda) - \tilde{M}(\lambda) \right) \varphi_2(x, \lambda) \tilde{\varphi}_1(x, \lambda)$$

Thus if $M(\lambda) = \tilde{M}(\lambda)$ then the functions $P_{jk}(x, \lambda)$ are entire in λ for each fixed x

. Together with (4.6) we get that

$$P_{11}(x, \lambda) \equiv 1, P_{12}(x, \lambda) \equiv 0, P_{21}(x, \lambda) \equiv 0, P_{22}(x, \lambda) \equiv 1$$

We get

$$\varphi_1(x, \lambda) \equiv \tilde{\varphi}_1(x, \lambda), \varphi_2(x, \lambda) \equiv \tilde{\varphi}_2(x, \lambda), \Phi_1(x, \lambda) \equiv \tilde{\Phi}_1(x, \lambda), \Phi_2(x, \lambda) \equiv \tilde{\Phi}_2(x, \lambda)$$

for all x and λ . Consequently $L = \tilde{L}$ dir .

5. Inverse Problem With Two Spectrum

L and \tilde{L} , respectively , $\{\lambda_n\}$ and $\{\tilde{\lambda}_n\}$ to get the problem of eigenvalues.

Lemma.1: If $\lambda_n = \tilde{\lambda}_n$, then $\mu^+(\pi) = \tilde{\mu}^+(\pi)$.

İspat: By using the behaviour of λ_n ' s and $\lambda_n = \tilde{\lambda}_n$ We have

$$\lambda_n^o + \delta_n + \left(\frac{d_n}{\lambda_n^o} \right) = \tilde{\lambda}_n^o + \tilde{\delta}_n + \left(\frac{\tilde{d}_n}{\tilde{\lambda}_n^o} \right)$$

From here is

$$\frac{\pi}{\mu^+(\pi)} n + \psi_1(n) + \delta_n + \left(\frac{d_n}{\lambda_n^o} \right) = \frac{\pi}{\tilde{\mu}^+(\pi)} n + \tilde{\psi}_1(n) + \tilde{\delta}_n + \left(\frac{\tilde{d}_n}{\tilde{\lambda}_n^o} \right)$$

By dividing both sides of the last equation by n

$$\frac{\pi}{\mu^+(\pi)} + \frac{\psi_1(n)}{n} + \frac{\delta_n}{n} + \left(\frac{d_n}{n \lambda_n^o} \right) = \frac{\pi}{\tilde{\mu}^+(\pi)} + \frac{\tilde{\psi}_1(n)}{n} + \left(\frac{\tilde{\delta}_n}{n} \right) + \left(\frac{\tilde{d}_n}{n \tilde{\lambda}_n^o} \right)$$

$$\lambda_n^o + \delta_n + \left(\frac{d_n}{\lambda_n^o} \right) = \tilde{\lambda}_n^o + \tilde{\delta}_n + \left(\frac{\tilde{d}_n}{\tilde{\lambda}_n^o} \right)$$

$\sup_n |\psi_1(n)| < +\infty$, $\sup_n |\tilde{\psi}_1(n)| < +\infty$ when $n \rightarrow \infty$, then we have

$$\mu^+(\pi) = \tilde{\mu}^+(\pi)$$

Lemma.2: a and β are determined uniquely by the sequence $\{\lambda_n\}$, if $\lambda_n = \tilde{\lambda}_n$, then $\beta = \tilde{\beta}$ and $a = \tilde{a}$ ($n = 1, 2, 3, \dots$)

Proof:

$$\Delta(\lambda) - \Delta_o(\lambda) = O\left(e^{|\operatorname{Im} \lambda| \mu^+(\pi)}\right)$$

$$\tilde{\Delta}(\lambda) - \tilde{\Delta}_o(\lambda) = O\left(e^{|\operatorname{Im} \lambda| \tilde{\mu}^+(\pi)}\right)$$

can be written in the expressions of $\Delta(\lambda), \Delta_o(\lambda), \tilde{\Delta}(\lambda), \tilde{\Delta}_o(\lambda)$ functions.

$\lambda_n = \tilde{\lambda}_n$ and $\Delta(\lambda), \tilde{\Delta}(\lambda)$ functions, λ according to the first order entire functions in accordance with Hadamard factorization theorem, for $\lambda \in \mathbb{C}$

$$\Delta(\lambda) \equiv C \tilde{\Delta}(\lambda) \tag{5.1}$$

The equality from (5.1), for $\forall \lambda \in \mathbb{C}$

$$\Delta_o(\lambda) - C \tilde{\Delta}_o(\lambda) = C \left[\tilde{\Delta}(\lambda) - \tilde{\Delta}_o(\lambda) \right] - [\Delta(\lambda) - \Delta_o(\lambda)] \tag{5.2}$$

can be written.

If we write instead of $\Delta_o(\lambda)$ and $\tilde{\Delta}_o(\lambda)$ from (5.2), we have

$$C \left[\tilde{\Delta}(\lambda) - \tilde{\Delta}_o(\lambda) \right] - [\Delta(\lambda) - \Delta_o(\lambda)] = [\beta^+ \sin \lambda \mu^+(\pi) + \beta^- \sin \lambda \mu^-(\pi)] - C \left[\tilde{\beta}^+ \sin \lambda \tilde{\mu}^+(\pi) + \tilde{\beta}^- \sin \lambda \tilde{\mu}^-(\pi) \right]$$

Later,

If both sides of the equation (5.2) is multiplied by $(\sin \lambda \mu^+(\pi) + \sin \lambda \tilde{\mu}^+(\pi))$ and finally integrating over the interval $(0, T)$, then the following equality is obtained.

$$\begin{aligned} & \int_0^T \left\{ C \left[\tilde{\Delta}(\lambda) - \tilde{\Delta}_o(\lambda) \right] - [\Delta(\lambda) - \Delta_o(\lambda)] \right\} (\sin \lambda \mu^+(\pi) + \sin \lambda \tilde{\mu}^+(\pi)) d\lambda \\ &= \int_0^T \left\{ [\beta^+ \sin \lambda \mu^+(\pi) + \beta^- \sin \lambda \mu^-(\pi)] - C \left[\tilde{\beta}^+ \sin \lambda \tilde{\mu}^+(\pi) + \tilde{\beta}^- \sin \lambda \tilde{\mu}^-(\pi) \right] \right\} (\sin \lambda \mu^+(\pi) + \sin \lambda \tilde{\mu}^+(\pi)) d\lambda \\ &= \int_0^T [\beta^+ \sin \lambda \mu^+(\pi) + \beta^- \sin \lambda \mu^-(\pi)] (\sin \lambda \mu^+(\pi) + \sin \lambda \tilde{\mu}^+(\pi)) d\lambda \\ &\quad - C \int_0^T \left[\tilde{\beta}^+ \sin \lambda \tilde{\mu}^+(\pi) + \tilde{\beta}^- \sin \lambda \tilde{\mu}^-(\pi) \right] (\sin \lambda \mu^+(\pi) + \sin \lambda \tilde{\mu}^+(\pi)) d\lambda \\ &= \int_0^T \beta^+ \sin^2 \lambda \mu^+(\pi) d\lambda + \int_0^T \beta^+ \sin \lambda \mu^+(\pi) \sin \lambda \tilde{\mu}^+(\pi) d\lambda \\ &\quad + \int_0^T \beta^- \sin \lambda \mu^-(\pi) \sin \lambda \mu^+(\pi) d\lambda + \int_0^T \beta^- \sin \lambda \mu^-(\pi) \sin \lambda \tilde{\mu}^+(\pi) d\lambda \\ &\quad - C \int_0^T \tilde{\beta}^+ \sin \lambda \tilde{\mu}^+(\pi) \sin \lambda \mu^+(\pi) d\lambda - C \int_0^T \tilde{\beta}^+ \sin^2 \lambda \tilde{\mu}^+(\pi) d\lambda - \\ &\quad - C \int_0^T \tilde{\beta}^- \sin \lambda \tilde{\mu}^-(\pi) \sin \lambda \mu^+(\pi) d\lambda - C \int_0^T \tilde{\beta}^- \sin \lambda \tilde{\mu}^-(\pi) \sin \lambda \tilde{\mu}^+(\pi) d\lambda \\ &= \frac{\beta^+}{2} T - \frac{C \tilde{\beta}^+}{2} T - \frac{\beta^+}{4\mu^+(\pi)} \sin 2T\mu^+(\pi) + \frac{\beta^+ \sin T(\mu^+(\pi) - \tilde{\mu}^+(\pi))}{2(\mu^+(\pi) - \tilde{\mu}^+(\pi))} - \frac{\beta^+ \sin T(\mu^+(\pi) + \tilde{\mu}^+(\pi))}{2(\mu^+(\pi) + \tilde{\mu}^+(\pi))} \\ &\quad + \frac{\beta^- \sin T(\mu^+(\pi) - \mu^-(\pi))}{2(\mu^+(\pi) - \mu^-(\pi))} - \frac{\beta^- \sin T(\mu^+(\pi) - \mu^-(\pi))}{2(\mu^+(\pi) - \mu^-(\pi))} + \frac{\beta^- \sin T(\tilde{\mu}^+(\pi) - \mu^-(\pi))}{2(\tilde{\mu}^+(\pi) - \mu^-(\pi))} - \end{aligned}$$

$$\begin{aligned}
 & -\frac{\beta^- \sin T(\tilde{\mu}^+(\pi) + \mu^-(\pi))}{2(\tilde{\mu}^+(\pi) + \mu^-(\pi))} - C \left[\frac{\tilde{\beta}^+ \sin T(\tilde{\mu}^+(\pi) - \mu^+(\pi))}{2(\tilde{\mu}^+(\pi) - \mu^+(\pi))} - \frac{\tilde{\beta}^+ \sin T(\tilde{\mu}^+(\pi) + \mu^+(\pi))}{2(\tilde{\mu}^+(\pi) + \mu^+(\pi))} \right. \\
 & - \frac{\tilde{\beta}^+ \sin 2T\tilde{\mu}^+(\pi)}{4\tilde{\mu}^+(\pi)} + \frac{\tilde{\beta}^- \sin T(\mu^+(\pi) - \tilde{\mu}^-(\pi))}{2(\mu^+(\pi) - \tilde{\mu}^-(\pi))} - \frac{\tilde{\beta}^- \sin T(\tilde{\mu}^-(\pi) + \mu^+(\pi))}{2(\tilde{\mu}^-(\pi) + \mu^+(\pi))} \\
 & \left. + \frac{\tilde{\beta}^- \sin T(\tilde{\mu}^+(\pi) - \tilde{\mu}^-(\pi))}{2(\tilde{\mu}^+(\pi) - \tilde{\mu}^-(\pi))} - \frac{\tilde{\beta}^- \sin T(\tilde{\mu}^+(\pi) + \tilde{\mu}^-(\pi))}{2(\tilde{\mu}^+(\pi) + \tilde{\mu}^-(\pi))} \right].
 \end{aligned}$$

Let's divide both sides by T ; we get

$$O\left(\frac{1}{T}\right) = \frac{\beta^+}{2} - \frac{C\tilde{\beta}^+}{2} - O\left(\frac{1}{T}\right) - CO\left(\frac{1}{T}\right)$$

Taking the limits as $T \rightarrow \infty$;

$$\beta^+ = C\tilde{\beta}^+$$

In other case ;

$$C \left[\tilde{\Delta}(\lambda) - \tilde{\Delta}_o(\lambda) \right] - [\Delta(\lambda) - \Delta_o(\lambda)] =$$

$$[\beta^+ \sin \lambda\mu^+(\pi) + \beta^- \sin \lambda\mu^-(\pi)] - C \left[\tilde{\beta}^+ \sin \lambda\tilde{\mu}^+(\pi) + \tilde{\beta}^- \sin \lambda\tilde{\mu}^-(\pi) \right].$$

If both sides of the equation (5.2) is multiplied by $(\sin \lambda\mu^-(\pi) + \sin \lambda\tilde{\mu}^-(\pi))$ and finally integrating over the interval $(0, T)$, then the following equality is obtained ,

$$\begin{aligned}
 & \int_0^T \left\{ C \left[\tilde{\Delta}(\lambda) - \tilde{\Delta}_o(\lambda) \right] - [\Delta(\lambda) - \Delta_o(\lambda)] \right\} (\sin \lambda\mu^-(\pi) + \sin \lambda\tilde{\mu}^-(\pi)) d\lambda \\
 & = \int_0^T \{ [\beta^+ \sin \lambda\mu^+(\pi) + \beta^- \sin \lambda\mu^-(\pi)] \\
 & - C \left[\tilde{\beta}^+ \sin \lambda\tilde{\mu}^+(\pi) + \tilde{\beta}^- \sin \lambda\tilde{\mu}^-(\pi) \right] \} (\sin \lambda\mu^-(\pi) + \sin \lambda\tilde{\mu}^-(\pi)) d\lambda \\
 & = \int_0^T \frac{\beta^+}{2} [\cos \lambda(\mu^+(\pi) - \mu^-(\pi)) - \cos \lambda(\mu^+(\pi) + \mu^-(\pi))] d\lambda \\
 & + \int_0^T \frac{\beta^+}{2} [\cos \lambda(\mu^+(\pi) - \tilde{\mu}^-(\pi)) - \cos \lambda(\mu^+(\pi) - \tilde{\mu}^-(\pi))] d\lambda \\
 & + \int_0^T \beta^- \left[\frac{1 - \cos 2\lambda\mu^-(\pi)}{2} \right] d\lambda + \int_0^T \frac{\beta^-}{2} [\cos \lambda(\mu^-(\pi) - \tilde{\mu}^-(\pi)) - \cos \lambda(\tilde{\mu}^-(\pi) + \mu^-(\pi))] d\lambda \\
 & - C \left[\int_0^T \frac{\beta^+}{2} [\cos \lambda(\tilde{\mu}^+(\pi) - \mu^-(\pi)) - \cos \lambda(\tilde{\mu}^+(\pi) + \mu^-(\pi))] d\lambda \right. \\
 & + \int_0^T \frac{\tilde{\beta}^+}{2} [\cos \lambda((\tilde{\mu}^+(\pi) - \tilde{\mu}^-(\pi)) - \cos \lambda((\tilde{\mu}^+(\pi) + \tilde{\mu}^-(\pi)))] d\lambda \\
 & \left. + \int_0^T \frac{\tilde{\beta}^-}{2} [\cos \lambda(\tilde{\mu}^-(\pi) - \mu^-(\pi)) - \cos \lambda(\tilde{\mu}^-(\pi) + \mu^-(\pi))] d\lambda + \int_0^T \tilde{\beta}^- \left(\frac{1 - \cos 2\lambda\tilde{\mu}^-(\pi)}{2} \right) d\lambda \right]
 \end{aligned}$$

Let's divide both sides by T ;

$$O\left(\frac{1}{T}\right) = \frac{\beta^-}{2} - \frac{C\tilde{\beta}^-}{2} + O\left(\frac{1}{T}\right) - CO\left(\frac{1}{T}\right)$$

Taking the limits as $T \rightarrow \infty$; $\beta^- = C\tilde{\beta}^-$.

$\beta^+ = C\tilde{\beta}^+$ and $\beta^- = C\tilde{\beta}^-$ hand side collect ; $C = 1$ is , so , $\beta^+ = \tilde{\beta}^+$ and $\beta^- = \tilde{\beta}^-$ since $\beta = \tilde{\beta}$.

$\mu^+(\pi) = \tilde{\mu}^+(\pi)$ and $\beta = \tilde{\beta}$ main equation is obtained that $a = \tilde{a}$.

$L_0(A) = -y'' + \frac{A}{x^\alpha}y$ and $\tilde{L}_0(\tilde{A}) = -y'' + \frac{\tilde{A}}{x^\alpha}y$; $\lambda_n^0(A)$, including the eigenvalues

of the problem $L_0(A) = -y'' + \frac{A}{x^\alpha}y$,

Lemma.3: If $\lambda_n^0 = \tilde{\lambda}_n^0$, $H_1 = \tilde{H}_1$ then $A = \tilde{A}$.

Proof: Using

$$\lambda_n^0 = \frac{\pi n}{\mu^+(\pi)} + \frac{d_n^0}{n} + \frac{\delta_n^0}{n} \text{ and}$$

$$d_n^0 = \frac{1}{\Delta_0(\lambda_n^0)} \left\{ \beta^+ \sin \pi n \mu^+(\pi) - \beta^- \sin \pi n \mu^-(\pi) + \frac{b_0(\pi) + H_1}{\beta} (\beta^+ \cos \pi n \mu^+(\pi) + \beta^- \cos \pi n \mu^-(\pi)) \right. \\ \left. + \frac{1}{\beta} \int_{-\mu^+(\pi)}^{\mu^+(\pi)} [K_{21}^0(\pi, t) + H_1 K_{11}^0(\pi, t)] \cos \pi n t dt \right\}$$

from equality $\lambda_n^0 = \tilde{\lambda}_n^0$ is the interest $b_0(\pi) = \tilde{b}_0(\pi)$ by using the expression , $b_0(x)$'s would

$$b_0(\pi) = -\frac{1}{2} \int_0^\pi u^2(t) e^{-\frac{1}{2} \int_t^\pi u(s) ds} dt \\ \int_0^\pi u^2(t) e^{-\frac{1}{2} \int_t^\pi u(s) ds} dt = \int_0^\pi \tilde{u}^2(t) e^{-\frac{1}{2} \int_t^\pi \tilde{u}(s) ds} dt \quad (5.3).$$

From (5.3) is equal to $u(x) = Au_0(x)$ ($u_0(x) = \frac{x^{1-\alpha}}{1-\alpha}$) can be written as

$$A^2 \int_0^\pi u_0^2(t) e^{-\frac{A}{2} \int_t^\pi u_0(s) ds} dt = \tilde{A}^2 \int_0^\pi u_0^2(t) e^{-\frac{\tilde{A}}{2} \int_t^\pi u_0(s) ds} dt$$

or

$$\left(A^2 - \tilde{A}^2 \right) \int_0^\pi u_0^2(t) e^{-\frac{A}{2} \int_t^\pi u_0(s) ds} \left(\frac{1 - e^{-\frac{1}{2}(A-\tilde{A}) \int_t^\pi u_0(s) ds}}{A - \tilde{A}} \right) dt = 0.$$

That is $A^2 = \tilde{A}^2 (A, \tilde{A} \geq 0)$ or $A = \tilde{A}$.

Using Lemma 3, we can prove the following two theorems.

Theorem.1: If $\lambda_n = \tilde{\lambda}_n$, $\alpha_n = \tilde{\alpha}_n$, then $q_0(x) = \tilde{q}_0(x)$ are almost everywhere.

Theorem.2: If $\lambda_n = \tilde{\lambda}_n$, $\mu_n = \tilde{\mu}_n$, then $q_0(x) = \tilde{q}_0(x)$ are almost everywhere.

References

- [1] V.A. Ambartsumyan, Über eine Frage der Eigenwerttheorie, Z. Physik 53 (1929), 690-695.
- [2] G.Borg, Eine Umkehrung der Sturm-Liouvilleschen Eigenwertaufgabe. Bestimmung der Differentialgleichung durch die Eigenwerte, Acta Math. 78 (1945), 1-96.
- [3] N. Levinson, 1949, The Inverse Sturm-Liouville Problem, Mat. Tidsskr. B., pp. 25-30.
- [4] B. M. Levitan, 1964, Generalized Translation Operators and some of its Applications, Jerusalem.
- [5] V.A. Marchenko, Some Problems in the Theory of Second-order Differential Operators, Dokl. Akad., Nauk SSSR. 72 (1950), 457-560.
- [6] I. M. Gelfand and B. M. Levitan, 1951 On Determination of a Differential Equation by its Spectral Function Izv. Akad. Nauk SSSR Ser. Mat. 15 309-60 (in Russian).
- [7] M.G. Gasimov and B. M. Levitan, About Sturm-Liouville Differential. Operators., Math. Sborn., 63 (105), No. 3, (1964).
- [8] A.N. Tikhonov, Uniqueness Theorems for Geophysics Problems, Dokl. Akad. Nauk. SSSR, Vol 69, No 4, 1949, 797-800.
- [9] R. O. Hryniv and Ya. V. Mykytyuk, Inverse Spectral Problems for Sturm- Liouville Operators with Singular Potentials, Inverse Problems 19 (2003) 665-684.
- [10] A. M. Savchuk and A. A. Shkalikov, 1999 Sturm-Liouville Operators with Singular Potentials Mat. Zametki 66 897-912 (in Russian).
- [11] V. A. Marchenko 1950 Some Questions of the Theory of Second Order Differential Operators Dokl. Akad. Nauk SSSR 72 457-60.
- [12] O. Hald, 1984 Discontinuous Inverse Eigenvalue Problem Commun. Pure Appl. Math. 37 539-77.
- [13] R. Carlson, 1994 Inverse Sturm-Liouville Problems with a Singularity at Zero Inverse Problems 10 851-64.
- [14] V. A. Yurko, 2000 Inverse Problems for Differential Equations with Singularities Lying Inside the Interval J. Inverse III-Posed Probl. 8 89-103.
- [15] R. Kh. Amirov and V. A. Yurko, On Differential Operators with Singularity and Discontinuity Conditions Inside the Interval. Ukr. Math. Jour., 2001, v.53, No11, p. 1443-1458.
- [16] R. Kh. Amirov, Transformation Operators for Sturm-Liouville Operators with Singular Potentials, Int. Journal of Pure and Applied Math., 12(3), (2004).
- [17] R. Kh Amirov, Direct and Inverse Problems for Differential Operators with Singularity and Discontinuity Conditions Inside the Interval Transactions of NAS Azerbaijan.
- [18] R. Kh Amirov, On Sturm-Liouville Operators with Discontinuity Conditions Inside an Interval J. Math. Anal. Appl. 317 (2006) 163-176.
- [19] A.A. Shkalikov Boundary value problems for the ordinary differential equations with the parameter in the boundary conditions. Trudy Sem. I. G. Petrovskogo, 1983, 9: 190-229.
- [20] S. Albeverio and P. Kurasov, 2000 Singular Perturbations of Differential Operators, Solvable Schrödinger Type Operators (Cambridge: Cambridge University Press).
- [21] J. Pöschel and E. Trubowitz, 1987 Inverse Spectral Theory(Pure Appl. Math. Vol 130)(Orlando, FL:Academic).
- [22] M.A. Naimark, 1967 Linear Differential Operators, Moscow, Nauka, (in Russia).
- [23] R. Kh.Amirov, S.Durak, Integral Representation For The Sturm-Liouville Operator With Discontinuous Coefficient. Journal of Cumhuriyet University Natural Sciences,2015,Vol 36,No 5,113-134
- [24] V.A.Marchenko Sturm-Liouville Operators and Their Applications. Naukova Dumka,Kiev, English transl.Birkhauser, Basel (1986).
- [25] B.Ya. Levin, Entire Functions, MGU, Moscow, 1971.
- [26] B.F. Jdanovich, Formulae for the zeros of Dirichlet polynomials and quasi-polynomials, Dokl. Akad. Nauk SSSR 135 (8)(1960) 1046-1049.
- [27] M.G. Krein, B. Ya. Levin, On Entire Almost Periodic Functions of Exponential Type, Dokl. Akad. Nauk SSSR 64 (3) (1949) 285-287.